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Answer Question  No. 1 which is compulsory and
any four from the rest

1. Write briefly on the following : 2x6=12

(a) Hybridization
(b) T4 ligasé‘;“
(c) )&-gal .
;d)- EcoRI

(e) Blunt end

() cDNA

20D/173 ( Turn Over )



(2) (3]
. . NA
(@ What .. qe.. ) .ven' the - following D )
Explain arethe containment  facjities? 6. (a) You a::s gl 4
contain various  )gye] f sequert TCACGCTCCACG-3'
Tent . facilities 1 ane TCCGTAATGTGTCCTGA -
- technology, S in DNA 5' ATTGAGGA CATTACACAGGACTAGTGCGAGGAGC-5
(b) Discuss w; 1456 '3 TAACTCCTAGS ;th BamHI, how
i With suitable g . :s DNA is cut with ,
salient features of plasnﬁglagrams the () 1 s DNA fragments would you
€xamples, vectors many
P with g expect? { those
. . e o
a . o wreite  the sequenc ] 3
“ gizti?be the role of 5ap in ; W grfl:le-suanded DNA fragments
'cation  system Wwith restriction 0 of the over-
€xamples, Suitable (i) Wwrite the sequence A 3
11} :
(b) g{hat are DNA mOdiﬁcaﬁ 6 hang. ) does -
e}::;}lSS their  roleg w:)tl;l ®Nzymes? ) e of restriction enzynlainle o
ples. Suitable (p) Which ﬁ’ﬁy require ATP? Expiain-
5 not us
@ “Some v, . S¥ex2=11
€ctors have ing :
replicati . one ioi following
repication, wi e 18 orign. o ,. weite on ¢ |
by this statemen;. ave two,” nemical transformation
(b) Different; v 5 (a) Che
and ntlate. between clonin . i1 chromosome
6 . F cess
(@ What are t is ligation? Delscnbe the pro
Di . thermogtgy, . fa) What % ble example:
SCUSS  their signific le SNZymes? 8 @ with suitable kers? How are
SXample ance Ving one jectable MaTE ents? S
() \ What &€ %€ joning experim
EXplain the techn;i 4 . {b) they use l in €
screening_ flique of blue‘white ‘ x cean
{c) DesCl‘ibe e 3 ’ ** o
. sal;
Tetrovirg) Vectors, Alient features of
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